
INSTALLATION INSTRUCTIONS 
Part # Description 

HW-112 05+ FSD Axle - Pair of Brake Line Mounts and Hardware 

 
 
10076 Streeter Road Suite #7, Auburn, CA 95602 
Phone: 530.268.9494       www.wfoconcepts.com 

 
  

HW-112HW-112 Installation Instructions      4/22/25 Rev A  | 1 

HW-112 
 

BILL OF MATERIALS 

 

C-51006 Qty. 2 - '05+ FSD Axle Brake Line Tab 

26462 Qty. 2 - 5/16” Plastic Dipped P-Clip 

Bolt, ¼” Qty. 2 – ¼”-20x3/4” Bolt 

Nylock nut Qty. 2 – ¼”-20 Nylock Nut 

Bolt, M14 Qty. 2 – M14-2.0x20mm Bolt 

Flat Washer Qty. 2 – M14 Flat Washer 

TOOLS NEEDED 
3/8” Drive Ratchet 
7/16” Socket & Wrench 
18mm Socket 

 

  

WARNING! 
*** Read all instructions thoroughly from start to finish before beginning the job! If these instructions are not properly followed, 

severe frame, suspension, tire, or body damage may result to the vehicle! 
*** WFO Concepts recommends that you exercise extreme caution when working under vehicles supported by jack stands. 

*** WFO Concepts recommends all installation to be performed by a professional shop/service technician. Product failure due to 
improper installation will not be covered under WFO’s warranty policy. 

 

 
 

TECH NOTES: 
- This hardware kit is intended to firmly attach your brake line to the top of the 2005+ Ford axle C, so it doesn’t interfere 

with other suspension components. 
- This kit will only work if factory lower coil bucket retainer is removed.  



  

HW-112 Installation Instructions      4/22/25 Rev A  | 2 

INSTALL: 
1. Make sure the lower coil bucket area on the C is clean of any debris.  

2. Locate the L shaped aluminum bracket, P-clip, and the ¼” hardware. Look at the image below on the orientation of 

the P-clip. Slip the P-clip over your brake line. Make sure the bolt runs from the inside out with the P-clip in the 

vertical position.  

 

 

 

 

 

 

 

 

 

 

 

3. Locate the M14 bolt and washer. Insert through the hole and into the axle’s old coil bucket threaded mount.  

4. ***Always double check clearances*** Make sure your brake line has enough slack that it will not bind or pinch 

from full lock to lock. As well as full droop to full compression.  

 

 

  

  

 

 

 

 

 

 

 

 

 

  


